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PC 21014-N

J-2/2111
PUNJABI (Compulsory)–212

Semester–III
Syll. Dec.–2020

Time Allowed : Three Hours] [Maximum Marks : 75

B'NL— ;ko/ gqPB bkIwh jB.
Gkr—T

1. ‘ejkDh tkosk’ ejkDh ;zrqfj ft~u'A fe;/ fJ~e ejkDh dk ftPk^t;s{ nkgD/
PpdK ft~u fby' L
dod, B' j?vI vkT{B, tko;. 12

2. fBwB^fbys gksoK ft~u'A fe;/ fJ~e gkso dk gkso fusoB eo' L
w?fi;No/N, d/ph, ;[ohs. 12

Gkr—n
3. j/m fby/ g?oQ/ dh fJ~e fsjkJh PpdK ft~u ;zy/g ouBk eo' Bkb jh Y[~etK

f;ob/y th fdU L
j[D ezw eko dh soQK fJB;kB B/ nkgD/ foPs/ th w'pkfJb c'B s'A jh ezNo'b
eoB/ P[o{ eo fd~s/ jB. n~i fiE/ foPs/ i[VQB ft~u s/Ih j? T[; s'A fes/ t~X
s/ih foPs/ N[~ND ft~u j?. seBhe ft~u fdB'A fdB ;[Xko j' fojk j?. w'pkfJb
c'B dk fwzBh b?gN"g pDBk th fJ;/ ;[Xko dk Bshik j?. w'pkfJb c'B B/ pzd/
d/ pj[s/ ezw p/j~d ;ob eo fd~s/ jB Gkt/A e'Jh fp~b GoBk j't/ iK e'Jh
yohd'̂ |o'ys nkfd w'pkfJb c'B s/ jh fJj ezw M~N j' iKd/ jB. i/ fe;/ dk
w'pkfJb c'B xo ofj ikt/ sK T[j nkgD/ nkgƒ nX{ok fijk wfj;{; eodk
j?. fiE/ fJ~e gk;/ seBhe d/ tXD Bkb ckfJd/ j' oj/ jB T[E/ fJ;dk
fJB;kB d/ foPfsnK ƒ f;T[Ae tKr fuzpV e/ T[ikVQB tkbk o{g th BIo
nkT[D b~r fgnk j?. 9
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4. tkezP eh jz[dk j? < BKt tkezP ns/ fefonk tkezP ;zpzXh ikDekoh fdU.

iK

PpdK ƒ gfoGkfPs eod/ j'J/ T[;dh gqeko tzv eo'. 12

Gkr—J
5. fBwB^fbys ;ko/ gqPBK d/ ;zy/g T[Zso fdU L

(1) wzrb f;zx e"D ;h < nkbk f;zx ƒ T[;B/ eh T[bkwk fd~sk <

(2) T[ikVQ ejkDh ft~u g/P wB[~yh n;fsst ;zpzXh uouk eo'.

(3) ohNk j[D G{s, Gft~y d/ fe; soQK d/ u~eo ft~u c;h wfj;{; eo ojh
j? <

(4) ftjV/ ft~u b~r/ nzp d/ p{N/ Bkb skJh dh eh :kd i[VQh j'Jh ;h <

(5) dod ejkDh d/ gkso nikfJp dh dtzdwJh wB'̂ nt;Ek gqrN eo'.

(6) dkdh B/ ;[ohs ƒ eh ;bkj fd~sh <

(7) pkg{ B/ ;[gB/ ft~u eh d/fynk <

(8) r[oizN dk w~yD f;zx Bkb eh foPsk ;h <
(9) tke ouBk d/ fejV/^fejV/ fB:w jB <

(10) BKj tkue tke dhnK d' T[dkjoBK fby'.

(11) ;tkXhB T[gtke eh jz[dk j? <

(12) :'ie s'A eh Gkt j? <

(13) gzi ;z:[es tke fby'.
(14) T[d/P ns/ ftP/ s'A eh Gkt j? <

(15) fwPos tke eh jz[dk j? < 15×2=30


